





Supplementary FREE textbook

NOTE: Cramers rule and Adjoint of a matrix are NOT covered in
Math 1554
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format shortG

% library example
A=[8.3;.2.7]

% car rental example
%A=[.8.1.2;.2.6.3;0.3.5]
%x0=[.2; .2; .6]

% election example
%A=[.7.1.3;.2.8.3;.1.1.4]
%x0=[.55;.4;.05]

% set value of n (largest index to
compute)
%n=10;
fori=1:n
% convert current index to string
and create xi string
index=string(i);
s=strcat('x',index,'=");
% compute xi value
Xi=ANI*X0;
% display each xi=A"i*x0
disp(s)
disp(xi)
end
% display final xn=A"n*x0
format longG
n=4;
index=string(n);
s=strcat('x',index,'=");
Xi=A”n*x0;
disp(s)
disp(xi)
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